Algebra 1B - Chapter 5 Test Review

Multiple Choice
Identify the choice that best completes the statement or answers the question.
. - . ~y=-3
1. Which ordered pair is a solution of ?
2x+y=10
a. {(-3,0 ' c. (0,0)
b, -1,2) d. (1,4)

2. The graph of a system of linear equations is shown below. What is the solution of the system?

a. (0,3) c. (2,4)
b (0,6) d. (6,0)
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3. Which ordered pair is a solution of
—y=3-x

a. (6,5) c. (11,8)
b. (10,7) d. (17,14)




—Sx+dy =6
4, Use a graph to solve the system
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The solution to the system is (-2, 4).
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The solution to the system is (2, —4).

5. solve the system.
{x =1+y
ix-fy=-12
a. (~2,~1}

b (2,3)

6. Solve {y by substitution.

x+y=-f

a. (-9,~6)
b, (-3,0)
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The solution to the system is (-2, —4).
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The solution to the system is (2, 4).
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10.

11.

12,

13.

y=4x-1 .
Solve by substitution.
=3x+6 -
a. (7,-6) c. (7,27)
b. (1,3) d. (1,5)
Ix+y=-3 L .
Solve by substitution. Express your answer as an ordered pair.
=%4+3
— 4
a. (3,-2) e (-3 1
b, (-2, 3) d. (u%, -3)
da-b+e=-3
Solve {@—h=-2 by substitution.
+b=5

a. a=-3b=0¢c=-2 c. a=L&=3¢c=-4
b, ad=l,&=53¢c=-0 d g=-2b=0c=-1
X¥y~=-— e
Solve { by elimination.
x—y=-7
a. (-4,3) e (3-4)
b. (-3,2) d. (2,-3)

L Ix+dy=-1
Solve by elimination: .
x-2y=11
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Use elimination to sofve the system r- =3 .
4%+ 3y =53
a. (8,7 c. (7,8
b. (0,-1) d. (2,-3)
For which would you draw a dashed boundary line and shade to the left?
a. xz-4 c. zX-4

b. x>-4 d z <-4




15. Graph: y £2x+4
a,




= 2x+4
< 2x -2

16. Graph the sfstem of linear inequalities {j
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Short Answer

dy=77
K=-1

"

olution of

Tell whether (=5,-6) isas

1.



x+3y=11 ,
2. Solve by graphing.
dxey—3

.. |3x-2=y
4. Solve by substitution .
-2x=-5
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¥= ~1-x+5
Solve 2 .

dy=x—24

2x-y=13

Solve by substitution {; .
-lid=x

o |Edy=T
Solve by elimination .
Ax+ 2y =22

Solve by any method: ﬁ




10.

Graph.
3x-Zy>—14




